Quiz 55

1) 1085
vAJ98 Imagine you are West, playing in spades
+876 . .
£Q54 How many tricks will you make?
AaKQJ96 N AAT32
v73 W E | v64 Now imagine you are South, playing in hearts
¢ AK92 S +QJ43
102 &J96 How many tricks will you make this time?
Al
vKQ1052 How many Total Tricks?
+105 :
#AK873 What is the Par contract?

How might the hands be bid?
a) Dealer West West North East South

b) Dealer South West  North East South

2) LHO opens 1 ¢ and partner doubles. RHO passes. What would you bid with these hands?

a) a74 b) 93 c) & Al052 d) &973 e) & KJ10953
v J963 v KJ1082 v K1083 v 43 v A4
¢ 104 ¢ 643 + A965 + KQ5 ¢ K752
& Q952 % Ab4 ® 4 % KQJ102 %3

3) LHO opens 1w, partner overcalls 14 and RHO makes a Negative Double. What now?

a) s K102 b) & J1096 c) ~ Q10875 d) a K105 e) & K942
v 9763 vi4 v 9654 v A9 v J86
+ K1074 ¢ A952 ¢ A73 + KQ83 ¢ AJ5
& Q5 & 9873 &2 & 6542 & K98
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